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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.  THIS IS A COMPUTATION QUESTION. What is the cotangent of 150 degrees?

ANSWER: _negative square root of three_

2.  Virginia Senator George Allen has joined Louisiana Democrat Mary Landrieu in asking the Senate to apologize for the Senate failing in the early 1900s to stop this crime. 4,700 victims, mostly Black, died as a result of -- what crime where citizens were killed by vigilante mobs for real or imagined crimes?

answer: _lynching_

3.  In May 1973, it was founded as the Student Loan Marketing Association. It became fully private in 1998. What is this government-sponsored enterprise that is the largest provider of educational loans in the US?

answer: _Sallie Mae_ or _SLM_ Corporation

4.  The graviton should have a value of 2 of it; bosons have an integer value of it.  Name this quantum property that enables the Pauli exclusion principle but does not involve rotation.

ANSWER: _spin_

5.  It is set in rural southern Louisiana and spans 100 years of American history -- from the early 1860s to the onset of the civil rights movement in the 1960s -- and follows the life of an elderly woman, a composite figure, who witnessed those years. What is this novel written by Ernest J. Gaines? 

ANSWER: _The _ Autobiography of Miss Jane Pittman_ _

6.  As a child, he mapped the Moon with the aid of a telescope he had made. From 1941-1946 he worked as a radar instructor and technician in the Royal Air Force. After the war, he earned a degree in science and mathematics and became a prolific science-fiction writer. Name this writer of _Earthlight,_ _A Fall of Moondust,_ _The Coast of Coral_ and _2010:  Odyssey Two_.

ANSWER: _ Arthur (Charles) Clarke _

7.  This seven-letter word can mean a song or a melody or a phrase, verse, or group of verses repeated at intervals throughout a song or poem, especially at the end of each stanza. It can also mean to abstain from something, especially drugs or alcohol. What is this literary term?

ANSWER: _ Refrain _

8.  This game comes in both Truth or Dare and Extreme versions.  According to the instructions, those who can build 36-story structures are considered experts at it.  Players first must assemble 54 pieces into a three-piece wide, 18-story tower, and then they have to remove one piece and put it on top without toppling the tower.  Identify this Milton Bradley game featuring three-inch hardwood blocks.

ANSWER:  _Jenga_

9.  A female has -- what two sex chromosomes?

answer: _XX_ or _double X_ or _two X's_ (accept equivalents)

10.  It was completed in 1936, over two years ahead of schedule. It started generating electricity later that year. Over 100 workers died while constructing it and the four water diversion tunnels, which were not ventilated. The town of Boulder City and Lake Mead were created during the building of -- what massive dam on the Colorado River?

answer: _Hoover_ Dam

11.  Robert Cutler was the first person to hold this civilian position that has also been held by Colin Powell and John Pointdexter. As he or she is not connected to the State or Defense Departments, he or she can offer an unbiased opinion. What is this position held by Sandy Berger from 1997 to 2001 and now held by Condoleezza Rice?

answer: _National Security Advisor_ or _Assistant to the President for National Security Affairs_

12.  Among the private colleges in this state are Earlham College, Butler University and Valparaiso University. Famous natives of this state include Michael Jackson and Larry Bird. What is this state that is also the home to Ball State University, Purdue University and Notre Dame? 

answer: _Indiana_

13.  This university's president, Alan Merten, said he was unaware that his school was paying $35,000 to have Michael Moore speak at its Patriot Center on October 28, a move criticized by several Republican legislators. What is this university in Fairfax, Virginia, whose sports teams are called the Patriots?

answer: _George Mason_ University

14.  The most intense radiation from the Sun comes in visible wavelengths.  This radiation strikes the surface of the Earth, and some of this radiation is absorbed and must be re-emitted.  However, the Earth’s temperature is lower than that of the Sun.  In what type of wavelengths does the Earth emit radiation, which you can’t see but can feel on your skin?

ANSWER: _infrared_

15.  If you work with computer design, you work with pixels. The word pixel is a blend of what two words?

ANSWER: _ Picture element _

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  What is the name for the cloud of gas that forms around the nucleus of a comet at it nears the Sun in its orbit?

ANSWER: _coma_

1B.  THIS IS A COMPUTATION QUESTION. What is the equation of a sine function transformed so that it has a period of sixteen, instead of 2pi?

ANSWER: _y = sin (pi * x / 8)_

2A.  What Republican from Illinois ran as an independent against Ronald Reagan and Jimmy Carter in 1980?

answer: John _Anderson_

2B.  What term was used to describe the reduction in tension between the US and USSR that occurred from the late 1960s to the early 1980s?

answer: _Detente_ [day-TAWNT]

3A.  What is the first person singular, in the imperfect indicative, of the Spanish verb hablar? [ah-BLAR]

ANSWER: _hablaba_ [ah-BLAH-bah]

3B.  Caravaggio, Rubens, and Van Dyck [DIKE] all painted during which artistic period that flourished in the seventeenth century?

ANSWER:  _Baroque_ period

4A.  THIS IS A COMPUTATION QUESTION. Y varies inversely as X.  Y equals 4 when X equals 8.  What is Y when X equals 2?

ANSWER: _16_ NOTE: 32 is the constant of proportionality, k.

4B.  What is the tense of the verb phrase _was coming_ in the sentence "I was coming down the walk when you called for me."

ANSWER: _ Past progressive _ tense or _past continuous_ tense

5A.  What flu vaccine administered via nasal spray has become more important due to this winter's reduced supply of traditional flu vaccine?

answer: _FluMist_ 

5B.  How many additional electrons does a carbon atom need to satisfy the octet rule?

ANSWER: _4_

6A.  Name the American writer, eccentric, expatriate in Paris and self-styled genius from whose book _The Making of Americans_  comes the line "Rose is a rose is a rose is a rose."

ANSWER: Gertrude _ Stein _

6B.  THIS IS A COMPUTATION QUESTION. A box contains 12 good grapefruit and four rotten ones.  What are the odds of picking three at random and getting all good ones?

ANSWER: _11/28_ (accept equivalents such as 55/140)

7A.  The Europeans trounced the Americans 18.5 to 9.5 in what biennial team golf competition, held this year in Michigan?

ANSWER:  _Ryder Cup_

7B.  Both a constellation and a galaxy are named after what Ethiopian princess, who was rescued from a sea monster by Perseus?

ANSWER:  _Andromeda_

8A.  What is the capital of Ghana?

answer: _Accra_

8B.  Arsaces [AHR-sah-seez] I was the first ruler of -- what empire, based in Iran, that fought with the Romans between 100 BC and 200 AD?

answer: _Parthian_ Empire

9A.  It occurs in middle or later age, and is caused by the failure of the pancreas to produce enough insulin. Specifically, what type of diabetes is described here?

ANSWER: _diabetes II_

9B.  His murder by four of King Henry II's men is the subject of a T.S. Eliot play. Name both this English bishop of the 12th century and the Eliot drama.

ANSWER: Thomas a _ Becket and _Murder in the Cathedral_ _

10A.  THIS IS A COMPUTATION QUESTION. What is quantity 2i plus the square root of three squared, {(2i + √3)2} simplified to a plus bi {bee eye} form?

ANSWER: _negative one plus four square roots of three times i_ {-1 + 4√3 i} (accept -1 + 4i√3)

10B.  By 1906, not only had he earned his doctorate but had already distinguished himself in the study of the properties of crystals. Name the French scientist credited with discovering the phenomenon of piezoelectricity (pee-a-zo-electricity), whereby changes in  the volume of certain crystals excite small electric potentials.

ANSWER: _ Pierre Curie _

Third period, 15 toss-ups
1.  THIS IS A COMPUTATION QUESTION. f of x equals the absolute value of x (end absolute value) divided by x {f(x) = |x|/x}.  What is the domain of f of x?

ANSWER: _x is not equal to zero_ (accept x is an element of the reals not equal to zero)

2.  In 1979, Oracle (then known as Relational Software) created the first commercial implementation of this computer language. Since then, this language has been accepted as a standard by both ANSI and ISO. The most recent version introduced features involving XML and auto-generated values for columns. What is this programming language, used in MS Access, Oracle and IBM's DB2, the most widely used database-oriented computer language?

ANSWER: _SQL_ (pronounced "es-queue-ell" or "sequel") or _Structured Query Language_

3.  In "Civil Disobedience," Thoreau is jailed for his refusal to pay a tax that will help pay for war. What tax does Thoreau say he never declined to pay?

ANSWER: _ Highway or road or transportation _ tax (accept equivalent answer)

4.  David Kelley and Nathaniel Branden are considered apostate by this philosophical school that is led today by Leonard Peikoff [PIE-koff]. Rational self-interest is seen as the cornerstone of this system that bases its ideas on the axiom, "A is A." What is this philosophy founded by Ayn [EIN] Rand?

answer: _Objectivist_ or _Objectivism_

5.  After his release from prison in 1921, he became a partner of Clarence Darrow. In 1893, he organized the first industrial union in the US, the American Railway Union, which was involved in the 1894 Pullman Strike. Who is this man that is perhaps best known for his five runs for President as candidate of the Socialist Party, the last one from jail?

answer: Eugene _Debs_

6.  How many alleles are there to determine the four major human blood types?

ANSWER: _3_ (Ia, Ib and O) 

7.  When it was first published, it was considered to be a gothic horror tale. It is actually an autobiographical account of the gradual emotional and intellectual deterioration of a young wife and mother who, suffering from postpartum depression, undergoes a "rest cure" involving strict bed rest. As the story progresses, the protagonist becomes obsessed with the title object and begins to rip it off the wall. Name this short story by Charlotte Perkins Gilman.

ANSWER: _ "The Yellow Wallpaper" _

8.  THIS IS A CALCULATION QUESTION. What is the total number of moles of solute contained in 0.50 liters of 5.0 Molar hydrochloric acid?

ANSWER: _2.5_ moles of solute  

9.  The current name of this place comes from the Arabic words for "Tariq's mountain" and before it was Calpe [kal-PAY], one of the Columns of Hercules. It was ceded to Great Britain in 1713 by the Treaty of Utrecht, and since then, Spain has tried militarily and diplomatically to regain it. What is this British possession on the southern tip of Spain?

answer: _Gibraltar_

10.  Only two figures appear in this painting set against a dark background.  The servant on the right side is dressed in pink and white, and holds a colorful bouquet of flowers.  The other figure - well, she's wearing shoes, but nothing else.  What 1863 Edouard Manet painting caused a stir because it showed a reclining female nude in flattened form, even though it was a tribute to Titian's _Venus of Urbino_?

ANSWER:  _Olympia_

11.  He was the orphaned son of English aristocrats marooned in Africa in the late 19th century and was raised by a species of apes called mangani. After becoming an adult, he learned he was the Lord Greystoke. Johnny Weismuller is the best-known actor to play -- what Edgar Rice Burroughs character and Lord of the Jungle?

answer: _Tarzan_

12.  This work contains fourteen movements; numbers eight and eleven are dedicated to humans, particularly people with long ears and piano students.  A slower version of Offenbach's can-can is found in the tortoise movement of what musical suite by Camille Saint-Saens (san-SAHNS) that also honors lions and kangaroos?

ANSWER:  The _Carnival of the Animals_

13.  He did manage to conquer the countries of Da-li and Korea. However, under pressure from his advisors, he attempted invasions of Burma, Vietnam and Japan, all of which failed. Who was this Mongol leader that ruled from Beijing and was visited by Marco Polo?

answer: _Kublai Khan_

14.  The number of orbitals in the second principal energy level of an atom, n = 2, is what number?

ANSWER: _4_ (1 in the "s" sub-shell, 3 in the "p" sub-shell)

15.  He scored a career-high 26 points in a win over Minnesota in the ACC-Big Ten Challenge.  An Honorable Mention All-ACC selection in 2003-04, he averaged 14.8 points per game, tops on his team.  Who is this 6-foot, 9-inch forward, perhaps the best player on the University of Virginia men's basketball team?

ANSWER:  Elton _Brown_   

Spare questions 

(Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  Jose Eduardo dos Santos has been the President of this nation since 1979. This nation is still recovering from a civil war between dos Santos' MPLA and Jonas Saivimbi's [SIGH-vim-bee] UNITA that was waged from the time of independence from Portugal in 1974 to Saivimbi's death in 2002. What is this nation of southwestern Africa, whose capital is Luanda?

answer: _Angola_

2.  What bone connects the ribs and is popularly known as the "breastbone?"

answer: _sternum_ (accept "breastbone" before it is said)

3.  The novel centers around Paul Morel, a sensitive young artist whose love for his mother, Gertrude, overshadows his romances with two women:  his repressed, religious girlfriend Miriam Leivers and an experienced, independent married woman, Clara Dawes. What is this semi-autobiographical novel by D.H. Lawrence?

ANSWER: _ _Sons and Lovers_ _

4.  He took shelter under a vine, but a worm came and ate the vine. He then cursed God, but God rebuked him. Earlier, he had prophesied to the people of Nineveh, who repented of their sin, leading God to save Nineveh from destruction. Who was this prophet perhaps best known for being swallowed by a whale?

answer: _Jonah_

5. THIS IS A COMPUTATION QUESTION. What is the base two logarithm of eight plus the base two logarithm of sixteen, expressed as a single base two logarithm? {log2 8 + log2 16}

ANSWER: _base two logarithm of 128_ {log2 128}

All questions ©2004 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

